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B LuE 47 47 120 350
gl #@#E @z 44 44 84 35.6
3 NI [&F 54/ 54 180 36.0
4 T s 48 48 120 36.0
(5] 3% &7 47 47 10.8 36.2
6 HE B= 41 41 48 36.2
7 IR —=E 44, 44 1.2 368
8 IEEFPS 44, 44 1.2 36.8
9 h E£E o4 o4 16.8 37/.2
[106:L)] #HA& =& 42 42 48 37.2
11 BTH # 42 42 48 37.2
12 FiE % 47 47 96 374
13 IEA 1A 41 41 3.6 374
14 |HE F= 40 40 24 31].6
[156i] B& &#— b2 52 144 37.6

SO —1BFES

*BG=A'AN'OR EA=1—%)l Bl=n—T¢ BB=7'—-t'— BM=7—t —)}—h— AL=T7JL/\ FAR




Lo RhyT

R.04F10H19H
ouT IN Gross Hdcp Net

16 MR S— 46 46 84 3/.6
17 K ERT o1 51 132 378
18 A 1EBA 43 431 4.8 38.2
19  #T % 47 47 84 38.6
[201i2] |LiR %8A 46 46 7.2 38.8
21 3R o/ 57 180 390
22 b4t FEe o7 o/ 18.0 39.0
23 AR Ih— 20 o0 10.8 39.2
24 Swish, 50 50 10.8 39.2
[252)] BX IE— 42 42 24 396
26 |Z"E —EFK 48 48 84 39.6
27 |IEA R’ 53 953 13.2 398
28 INKA R 02/ 92 12.0 400
29 h = A 52 52 120 40.0
[30fiZ] 7t 46 46 6.0 400
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31 4t BhE 08 58| 18.0 40.0
32 =i B 52 52 12.0 400
33 =mE EA 500 50 9.6 40.4
34 L@ —ER 48 48 1.2 4038
[35437])] paig = 55 55 132 418
36 K EUFE e 48 48 6.0 420
37 =@ & 54 54 120 420
38 mE = 54 54 120 420
39 |FH == 54 54 12.0 420
[401i2] ;m pE— 43 48 6.0 420
M =@ AE 47 47 48 422
42 h E=E 03 03 108 422
43  mrpy Ak 61 61 180 43.0
44 thiF (= 59 59 15.6 434
[4511] B X b8 58 144 436
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46 Wk f5— 60 60 132 46.8
47 EO S . 78 78 180 60.0
48 (=% ZE ) 81 81 180 63.0
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